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1] BEEOH 2 KT AKCHR 2.0kg ® 70y 7 % HE T L 72, Ik EEEGR %
w=0.2, BEEHFRE Ww=0.1 £ T2, (1) HE &2V SIcLAM, 70y 7 26 =

T, (2) J1F=1.0N, 2.0N O, FHEEEIORE I, ZnZn0L 6, (3) H
SHL®B, ~EORETHEBIL 72, JFIZW6»?

2] B¥tDH 2 KFELRKED T, B 100kg DY v A 2B EFTH>TBEIL 72\, #ik
BEER B Z u=0.4 £ T3, (1) Lo hzlEiE, ¥y RAE3EBESHTH, 2) ¥
Y AZHRE LM EIZ 180N 01 TR LITEAIC L 236, 5IE T2 X H I8 L7\,
WEGIZ L B, 2, N2 VL S HBIEE T2,

3] BEDODH 2K ERKTERLOkg DL v A% 2T 2, HEREL LTk,
F=19.6N Zi#B A 7-FrCcBI S H L 7z, ERILEERE w13 572 By

(4] #HAICER 1.0kg OYA % BT, RHaZMEIF Two 7z
SXD XD IR R XY ¥ T, DL HEIT S
EEO L7, BRIFEBEEEREIZ L 500 ? 50cm

30cm

40cm

[5] & 5000kg DHBENHAY, X 30 m/s TE-> TV, A7 L —FZ2EATRAY v
7L THZIED 7, KINEZ A Y ORIOBEEERFREZ w=0.40 £ T2 &, [CTHIXIE
F200?2F0, ZOMICA) v 7L EEEIZNL 522? (g=10m/s2 £ 35, )

¥ 707 5L E153E49~58%2Z9->THLIE
B2 K%




